Let A A sbea regular hexagon inscribed in a circle
of unit racf 1uS, !hwn the product of the lengths of the line
segments 44,44, and A, 1S (1998 - 2 Marks)
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Solution: -

(c) Given that 4 1A,A,A 44 1s aregular hexagon inscribed
in a circle of radius 1.

£4g04 = 30

Butm AOAA,, OA=04,=1
AOAOAI f_’OA Ao =60°
AOAyA, 1s an equilateral A
ApA; =1 =A|'42 =AyAy=A;A,= A A= A4,
LAA A, =60° + 60°=120°
In A4,A | A,, using cosine law we get

(AgA))? + (A A)? - (AgAs)?
2Ag4y) (4 4)
1 1+1-(4g4y)*

= _Ez 2x1x1 = AﬂAE:\E

= 60°

cos 120° =




